
Operating the Plane-R-Reel 
 
 To play out the towline, turn the crank 
handle counterclockwise.  When the desired 
amount of line is out, turn the handle back 
clockwise to lock the reel in place.  To re-
trieve the lure, just start cranking.  The reel 
will hold its place wherever you stop. 
 

Maintaining the Plane-R-Reel 
 
 Clean the unit thoroughly after each 
trip, and lubricate it on a frequent basis. 
 

Lubrication:  
 

 Place a drop of oil on the thrust bearing 
and the crank handle arbor.  Also, clean and 
grease the drive shaft, being careful not to 
get grease on the clutch pad or the ratchet 
and drive plates.  During periods of heavy 
usage, you should lubricate more often. 

Mounting the Plane-R-Reel 
 
 Our experience shows that best results are 
obtained when the reel is mounted forward of 
center on your boat.  The Plane-R-Reel can be 
attached to a railing (at an upright support), 
windshield frame, or any other solid raised point 
on your boat. 
 
 The Plane-R-Reel may mount to any sup-
port or rail tubing (up to 1-5/16” diameter).  If 
your rail is not 1-5/16” diameter, use a plastic or 
rubber spacer to make the reel assembly clamp 
properly. 
 
Trolling With the Plane-R-Reel 
 
 Up to three lines can be fished off one 
planer board or one kite.  Cannon’s adjustable-
tension Quick Release (part no. 2250119) is ideal for his purpose: 1) Extend the length of fishing line you want to troll, 2) Slip 
the line between the Quick Release gripper pads, 3) Adjust the tension to fit your line weight and the release force you want, 4) 
Fasten the clip over the planer board tow line, and 5) Let it play out to the distance you want to troll your lure. 
 

NOTE: The fishing line furthest out must be deployed first, of course.  Be sure that the next line(s) deployed go  
  underneath the first, to prevent tangling when you get a strike. 

FIGURE 1 

Plane-R-Reel Mounted 
on Windshield 

Plane-R-Reel Mounted 
on railing 

Plane-R-Boom 

Plane-R-Reel should 
be mounted toward 
bow of boat 

Towline 

FIGURE 2 

Fishing Lines 

FURTHEST LINE OUT MUST 
STAY ON TOP IN ORDER TO 
CLEAR THE INSIDE LINES 
WHEN RELEASED.  ROD 1 
OVER ROD 2 

Quick Release 

Plane-R 
-Board 

Plane-R-Reel Used for Kite Fishing 

Towline 

Fishing Line 

FIGURE 3 

Mounted on Stern 
as a Teaser Reel 

ITEM # PART# DESCRIPTION

1 1819345 ASY CLAMP PLANE-R-REEL
2 1821497 HSG COVER CLUTCH PRR
3 9280580 SCREW-3/8"-16 X 3/4 FHMS
4 9010070 HDW BEARING BRASS
5 1800757 ASY SHAFT DRIVE PRR
6 0467694 HDW RATCHET BRAKE FACE
7 1264670 ASY CLUTCH PAD SM HOLE
8 1800756 ASY REEL SHAFT PRR
9 9010010 HDW BEARING SHORT NYLINER
10 1821482 HSG CLUTCH PRR
11 9100160 DOG RATCHET
12 9400070 HDW SPRING DOG
13 9370220 SCREW-#10 X 1 1/4 FHMS [4.EA]
14 3397917 REEL, 3.75 ID, NO GEAR
15 3393412 SCREW-SET 5/16"-18 X 1" SS HDP
16 9010310 HDW WASHER, THRUST [2.EA]
17 9010280 HDW BEARING, THRUST
18 9430130 HDW WASHER 3/8" SPLIT LOCK SS
19 0902000 ASY HDW HANDLE CRANK PRR
20 1815395 ASY LINE DACRON 150' SPOOL
21 9100620 HDW SNAP SWIVEL 4/0-37 SS

22 1819472 ASY HDW CLAMP BLOCK [2.EA]
23 9040250 SCREW-#8-32 X 5/8 PPMS [4.EA]
24 9950357 LOCKWASHER-SPLIT 1/4" SS [4.EA]

▼ PARTS UNIQUE TO 1800093 - BOOM CLAMP ▼

Plane-R-REEL elite™ 
Parts list 

1800089 — c-clamp 

1800093 — boom clamp 

CANNON® LIMITED WARRANTY 
 

    Johnson Outdoors Inc. warrants to the original purchaser that if the accompanying product (see exclusions below) proves to be defective in material or workmanship within the following warranty periods, 
Johnson Outdoors Inc. will, at its option, either repair or replace same without charge (but no cash refunds will be made): 

1) The boom, motor, and reels, plus all Lexan®* parts, including but not limited to frames and bases, will be free from defects in materials and workmanship, subject to normal wear and tear, for the 
original purchaser's lifetime. 

 2) All other items will have 1-year limited warranties from the date of original retail purchase, except THE FOLLOWING ITEMS THAT HAVE NO WARRANTY WHATSOEVER: boot covers, clothing, 
Dacron line, rubber bands, swivel lock pin, weights, and wire cable.  

 

 This limited warranty may be enforced only by the original purchaser; all subsequent purchasers acquire the product "as is" without any benefit of this limited warranty. Repair or replacement of the 
product as set forth in this limited warranty shall be the original purchaser’s sole and exclusive remedy and Johnson Outdoors Inc.’s sole and exclusive liability for breach of this warranty. 
 

EXCLUSIONS 
 This warranty does not apply in the following circumstances: 
 

• When the product has been connected, installed, combined, altered, adjusted, serviced, repaired, or handled in a manner other than according to the instructions furnished with the product 
• When a serial number has been effaced, altered, or removed 
• When any defect, problem, loss, or damage has resulted from any accident, misuse, negligence, carelessness, or abnormal use, or from any failure to provide reasonable and necessary 

maintenance in accordance with the instructions of the owner's manual 
 

LIMITATION AND EXCLUSION OF IMPLIED WARRANTIES AND CERTAIN DAMAGES 
 

 THERE ARE NO EXPRESS WARRANTIES OTHER THAN THESE LIMITED WARRANTIES. JOHNSON OUTDOORS INC. DISCLAIMS LIABILITY FOR INCIDENTAL AND CONSEQUENTIAL 
DAMAGES, AND IN NO EVENT SHALL ANY IMPLIED WARRANTIES (EXCEPT ON THE BOOM, MOTOR, REELS, AND ALL LEXAN®* PARTS), INCLUDING ANY IMPLIED WARRANTY OF 
MERCHANTABILITY OR FITNESS FOR PARTICULAR PURPOSE, EXTEND BEYOND ONE YEAR FROM THE DATE OF PURCHASE (AND IN THE CASE OF THE BOOT COVERS, CLOTHING, DACRON 
LINE, RUBBER BANDS, SWIVEL LOCK PIN, WEIGHTS, AND WIRE CABLE, JOHNSON OUTDOORS INC. DISCLAIMS ALL IMPLIED WARRANTIES). THIS WRITING CONSTITUTES THE ENTIRE 
AGREEMENT OF THE PARTIES WITH RESPECT TO THE SUBJECT MATTER HEREOF; NO WAIVER OR AMENDMENT SHALL BE VALID UNLESS IN WRITING SIGNED BY JOHNSON OUTDOORS 
INC.  
 

Some states do not allow limitations on how long an implied warranty lasts or the exclusion or limitation of consequential damages, so the above limitation or exclusion may not apply to you. This warranty gives 
you specific legal rights, and you may also have other rights that vary from state to state. 
 

* Lexan is a registered trademark of General Electric. 

Home
Typewriter
For Parts and Service

Call 1-888-404-1119

www.mikesreelrepair.com

Home
Typewriter
For Parts and Service

Call 1-888-404-1119

www.mikesreelrepair.com




